
PROBLEM 16.3

A 60-lb unfonn th panel is placed in a trck with end A resting on a
rough horinta surace and end B supported by a smooth vertica

surace. Knowig that the deceleration of the trck is 12 fts 2, determe
(a) the reactions at ends A and B, (b) the mium requird Coeffcient of
static frction at end A.
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+) "LMA = No (5 ft )(0.866) - (60 Ib )(2.5 ft)(O.5)

= (60 Ib) (12 fts2 )(0.866)

32.2 fts2

No = 28.5011b

~ LFx = No - F = 3~0~~2 (12 fts2)

F = 6.14041b

(a) RA = ~N~ + F2 = 60.31331b

or RA = 60.311b L 84.2° ~

a = ta-I 60.3133 = 84.180
6.1404

and No = 28.5 Ib - ~

(b) ¡. = l- = 6.1404 = 0.10234
NA 60

or ¡. = 0.1023 ..
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